Full Marks : 100

2020

P -1 (1+1+1) G /20 (N)

SOCIOLOGY (General)

Paper Code : III - A & B
(Sociological Theories and Thought)
[New Syllabus New Pattern]

Time : Three Hours

Subject Code :

Subject Name :

Script.

1

A

&

B

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is “CORRECT” answer. The candidate has to write the Correct
Alternative [ie. (A)/(B)/(C)/(D)] against each Question No. in the Answer

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : III - A

Full Marks : 30 Time : Thirty Minutes
Choose the correct answer.

Each question carries 2 marks.

1. Which of the following is an important characteristic of a sociological theory?
(A) Logic
(B) Well defined concepts
(C) Systematised symbolic construction
(D) All the above
S| 9 W (I ANErlfEe Oregd «Iis wwesje (IfiE 2
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2. Who among the following championed the theory of Organicism?
(A) Blau
(B) Spencer
(C) Marx

(D) Mead
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(A) gre
(B) (A
(C) wrsf

(D) e
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3. Who proposed the AGIL model?
(A) Parsons
(B) Merton
(C) Radcliffe Brown
(D) Malinowski

© | AGIL (O 24365 (52
(A) A
(B) 5T
(C) TIefFT I
(D) mfeTCant®

4. Who among the following is a conflict theorist?
(A) Parsons
(B) Dahrendorf
(C) Blumer
(D) Homans
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5. Which theory talks about ‘rewards’?
(A) Functional theory
(B) Conflict theory
(C) Feminist theory
(D) Exchange theory
€| (PN OF TTHCIT AN ACT 2
(A) I og
(B) &% ©g
(C) I og
(D) faferm og
6. In which theory does ‘gesture’ play an important role?
(A) Conflict
(B) Symbolic interactionism
(C) Exchange

(D) All the above
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7. One of the elements of structural functional theory is —
(A) Conflict
(B) Power relations
(C) Equilibrium

(D) Competitive struggle
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(B) *Felfefes i
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(D) fsIfrSIERs ALl
8. Who is the author of “The Positive Philosophy’?
(A) Comte

(B) Spencer
(C) Durkheim
(D) Weber
| “The Positive Philosophy’ &ITZa el (F2
(A) (TS
(B) =PIt
(C) Tz

(D) SR
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9. Which is the second stage in ‘The law of Three Stages’?
(A) Theological
(B) Metaphysical
(C) Positive
(D) Post industrial
s ‘faws [iew feor vl G
(A) wfoifgs =7
(B) wifdfRwiia w1

(C) 7Bt %
(D) Mitsen w7
10. Which is an example of a social fact?
(A) Religion
(B) Suicide
(C) Law

(D) All the above

o | A& ToIF TARF (FI(G 2
(A) 5f
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11. Which kind of solidarity is based on specialisation?

(A) Mechanical
(B) Organic

(C) Both the above

(D) None of the above

55 | (FIN GRCIR NS RS9’ -7 8sig eq e e
(A) TifFs
(B) (e
(©) TR
(D) @I T

12. Which according to Marx is an example of ‘superstructure’?

(A) Politics
(B) Religion
(C) Both the above
(D) None of the above
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13. What is “Verstehen’?

(A) Understanding
(B) Value orientation
(C) Ideal type
(D) Authority

9| “Verstehen” I ?
(A) EaRret
(B) 0TI
(C) = =TTt
(D) $%

14. Who played a leading role in the enactment of widow remarriage in India?
(A) Rabindranath Tagore
(B) Mahatma Gandhi
(C) Swami Vivekananda
(D) Ishwarchandra Vidyasagar
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15. Who founded ‘Sriniketan’?
(A) Rammohan Roy
(B) Rabindranath Tagore
(C) Mahatma Gandhi
(D) Swami Vivekananda
se | Ffarre-a7 dfevrel &2
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(B) =12 51t
(C) =91 si
(D) F& R
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The figures in the margin indicate full marks.

Group-A

Answer any five questions from the following :

Discuss the contribution of Blumer to symbolic interactionism.

. Analyse the contribution of Homans to exchange theory.

Discuss the general arguments of functionalism.
Discuss the contribution of Coser to conflict theory.
Discuss Comte’s Law of Three stages.

Analyse Durkheim’s theory of religion.

Discuss Marx’s ideas on class and class struggle.

Analyse Weber’s theory of the Protestant ethic and the spirit of capitalism.

Discuss Tagore’s ideas on rural reconstruction.

Group-B

Answer any four questions from the following :

(a) Spencer’s theory of social evolution.

(b) Mead’s theory of Self and Society.

(c) Merton’s Middle Range Theory.

(d) Imperatively Coordinated Associations of Dahrendorf (ICA).
(e) Comte’s idea of Hierarchy of Sciences.

() Durkheim’s concept of Social fact.

( 11)

Time : Two Hour Thirty Minutes

10x5=50

. What is a sociological theory? Discuss the different types of sociological theory.

3+7=10
10
10
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5x4=20
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(g) Weber’s concept of Ideal type. 5

(h) Gandhi’s idea of Village Swaraj. 5
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